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KEY FOR CLASS : 08

Please note that this key is within the purview of Oxford Advanced Learner’s Dictionary, published in 2014.

Explanations and answers to select questions
01 Option (A) is the correct answer. ‘Feint’ is pronounced as ‘Faint’, so ‘Paint’.
02 Option (C) is the correct answer. Homophones of other options are ‘Bier’, ‘Dear’ and ‘Pier’.
07 Option (D) is the correct answer. Swipe = Sweep+Wipe.
09 Option (C) is the correct answer. The four other words are : mates, meats, tames and teams.
10 Option (B) is the correct answer. The correct spelling is : ‘Fluorescent’.
11 Option (C) is the correct answer. They are : Bou-tique.
12 Option (B) is the correct answer. The three adjectives are : ‘hot’, ‘fried’ and ‘complete’.
22 Option (A) is the correct answer. The pronunciation of ‘MBBS’ begins as in ‘aim’, a vowel sound, so ‘an’.

And the pronunciation of the first syllable of ‘university’ is as in ‘you’, a consonant sound, so ‘a’.
28 Option (D) is the correct answer. ‘caterpillars actually are baby moths’ is a universal truth, so no change

of tense.
30 Option (C) is the correct answer. Only that is not a string instrument, all others are.
31 Option (D) is the correct answer. The sentence with corrections and (errors) is : In foreword (forward) the

author writes (rights) about (of) the desert (dessert) road (rode) used.
32 Option (B) is the correct answer. In the first pair ‘yield’ is a synonym of ‘output’, and so is ‘faction’ of ‘cabal’.
34 Option (B) is the correct answer. The sentence is a second conditional with pattern ‘If + past simple (were),

would + infinitive (travel)’, only with the position of the clauses interchanged.
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